
Rahmat 

Unit-04 

Matrix 
Objective  

 
1. eSfVªDl fdls dgrs gSa\ 

What is Matrix?  
1 

2. eSfVªDl ds fdUgha ,d vo;o dks crk;saaA 

Comments any one elements of Matrix. 
1 

3. oxZ eSfVªDl D;k gS\ 

What is Square Matrix? 
1 

4. Iafä eSfVªDl D;k gS\ 

What is Row Matrix? 
1 

5. ‘kqU; eSfVªDl D;k gS\ 

What is Zero Matrix? 
1 

6. vfn’k eSfVªDl dks crk;sa\ 

What is Scalar Matrix? 
1 

7. fod.kZ eSfVªDl D;k gS\ 

What is Diagonal Matrix? 
1 

8. LrEHk eSfVªDl D;k gS\ 

What is Column Matrix?  
1 

9. cjkcj eSfVªDl D;k gS\ 

What is Equal Matrix? 
1 

10. mi eSfVªDl D;k gS\ 

What is Sub- Matrix? 
1 

   

1. 2 6

3 5

 
 
 

dk O;qÙØe vkO;wg Kkr djsa\ 

               Find the inverse. 

 

2. 

;fn 
2 6

1 2 3
( ) 4 5

5 2 5
3 1

if A B

 
−   = =   −    

  

AB vkSj BA Kkr dhft, vkSj fn[kykb;s fd AB BA≠   

(Find AB, BA and show that AB BA≠ ) 

 

3. A man buys 8 dozen of mangoes, 10 dozen of apples and 4 dozen of bananas.  



Rahmat 

Mangoes cost  Rs. 18 per dozen, apple Rs. 9 per dozen and bananas Rs. 6 per dozen. 

Represent the quantities bought by a row matrix and the prices by column matrix 

and hence obtain the total cost. 

4. 

If 

1 2 2

2 1 2

2 2 1

A

 
 =  
  

prove that A2 - 4A-51= 0 

(Hence obtain A-1) 

 

5. ;fn rhu eSfVªDl A, B, C bl Ádkj gks fd 

(If A,B,C are there matrix such that) 

[ ],
a h g X

A XYZ B h b f C Y

g f c Z

   
   = = =   
      

find ABC  

 

6. eSfVªDl A dk lg[k.M fudkysa] tgk¡ 

(Find the ad joint of matrix A where) 

1 2 3

0 5 0

2 4 3

A

 
 =  
  

 

 

7. fuEufyf[kr eSfVªDl dk O;qÙØe fudkfy, 

Find the inverse of the following matrix 

0 1 2

1 2 3

3 1 1

A

 
 =  
  

 

 

8. 

;fn eSfVªDl (If matrix)

1 1 1

2 3 0

18 2 10

A

− 
 =  
  

 fn[kkb;s fd (Show that)  A(adj A) = 0  

9. eSfVªDl fof/k ls fuEufyf[kr lehdj.kksa dks gy dhft, 

(Solve the following equations by matrix) 

5 3 16

2 3 19

2 4 25

x y z

x y z

x y z

+ + =

+ + =

+ + =

 

 

10. 
;fn (if) 

1

0 1

a
A

 
=  
 

 rks fl) djsa fd (Them prove that) 

1

0 1
n na

A
 

=  
 

 

 

 
END 

 


